310 YU AfiitgzR

310Slim’

stHHSE T4 S1t X 06-6543-0289

prBRosswmy+ sk D teiketsujp a-#o—+vr+ [HE www.ikekin.co.ip

RBRUMSEORIBEZEAR] & i 75500013 ATRAIABRHERHE 47-11
LTES = 06-6538-5941

ver.10.1



310A U LfifiigsR

|

310SIlim’

ver.10.1

BANLD dk k |kRS5«07
M2 0.4N.m 4 0.5 T4
M2.6 0.5N.m 6 0.6 T5
M3 0.95N.m 7 0.8 T6
M4 2.30N.m 8 0.9 T8
M5 4.00N.m 9 1.0 T10
M6 10.00.N.m 12 1.2 T20
AFHOE1S—HA LEL>F
B X #]RI—KR @YX || 1-497K | 504U E| 100251 £
T-4 TRX04L M2 700 490 350
T-5 TRXO5L M2.6 || 700 490 350
ENiXvF ¥/X
A4 X Bqm1—R 1-997K | 100ALLE| 1,0004u | HHERE
M3x6| SH010306BNi 23 4.7 4.2
8| SH010308BNi 25 5.0 4.5
10, SHO010310BNi 25 5.0 4.5
M4x6| SH010406BNi 41 8.2 7.4
8| SH010408BNi 42 8.4 7.5 100%
10, SH010410BNi 49 9.8 8.8
M5x8| SH010508BNi 73 21.8 19.6
10, SHO010510BNi 76 22.7 20.4
12| SH010512BNi 118 24.4 22.0
16/ SH010516BNi 124 27.4 24.7

NidXw+ ¥ /XK
B X ®HRI—KR 1-997 | 100451 E | 1,0004u £ | EEAEHRS
M3x6| SHO10306Ni 20 4.4 3.9
8| SHO010308Ni 21 4.6 4.2
10, SHO010310Ni 21 4.6 4.2
M4x6| SHO010406Ni 34 7.4 6.7
8| SHO010408Ni 35 7.8 7.0
10, SHO010410Ni 40 8.8 7.9 1007
12| SHO010412Ni || 19.60 | 9.80 8.18
16| SH010416Ni 10.40 | 8.68
M5x8| SHO010508Ni 55 18.3 16.5
10, SHO10510Ni 97 19.8 17.8
12| SHO010512Ni 105 20.8 18.7
16/ SHO010516Ni 118 22.4 20.2
EloOX—b
B X #RI—R 1-997K | 100451 L | 1,0004u | E¥EHR S
M3x6| SHO010306Cr3 16 5.0 4.2
8| SH010308Cr3 18 5.2 4.0
10 SH010310Cr3 18 5.2 4.0
M4 x6| SH010406Cr3 22 8.8 7.9
8| SH010408Cr3 25 9.1 8.3 100K
10 SH010410Cr3 25 9.4 8.5
12| SH010412Cr3 28 10.0 9.0
M5x8| SH010508Cr3 38 10.9 9.2
10 SHO010510Cr3 38 11.2 9.6
12| SH010512Cr3 48 12.0 10.6




310R Y Afliig= 310SIlim’

ver.10.1
|
AT L AA2 ATFILAA2 B
H1X ®WRI—KR 1-997 | 1004LLE | 1,000%5 k| EAERE 11X ®HmI—R 1-99*\ 100*1;(:‘1,0001:»,41: HHiRg
M2X4| SH010204A2 123 24.7 22.2 M2X4| SH010204A2BK
5| SH010205A2 110 21.9 19.7 5| SH010205A2BK
6| SHO010206A2 106 21.2 19.1 6| SHO10206A2BK
8| SH010208A2 98 19.7 17.7 8| SHO10208A2BK
10| SHO010210A2 99 19.8 17.8 10| SHO10210A2BK
12| SHO10212A2 97 19.5 17.5 12| SHO10212A2BK
M2.6X4| SHO012604A2 128 25.6 23.0 M2.6X4| SH012604A2BK
5| SH012605A2 115 23.0 20.7 5| SH012605A2BK
6| SH012606A2 112 22.4 20.1 6| SHO012606A2BK
8| SH012608A2 105 21.0 18.9 8| SHO12608A2BK
10| SHO012610A2 107 21.5 19.3 10| SHO012610A2BK
12| SHO12612A2 106 21.2 19.1 12| SHO12612A2BK
M3x5| SHO010305A2 121 24.2 21.8 M3x6| SHO010306A2BK
M3x6| SH010306A2 121 24.2 21.8 8| SHO10308A2BK
8| SHO010308A2 119 23.8 21.4 10| SHO10310A2BK
10| SHO10310A2 112 22,5 20.2 12| SHO10312A2BK
12| SHO010312A2 116 23.2 20.8 16| SHO10316A2BK
16| SHO10316A2 116 23.2 20.8 M4x6| SHO010406A2BK
M4x6| SH010406A2 152 30.4 27.4 8| SH010408A2BK
8| SH010408A2 157 31.3 28.2 10| SHO10410A2BK =Rat 1004
10| SHO010410A2 147 29.5 26.5 | 100%& 12| SHO10412A2BK
12| SHO10412A2 147 29.5 26.5 16| SHO10416A2BK
16| SHO010416A2 150 30.1 27.1 20| SH010420A2BK
20| SH010420A2 150 30.1 27.1 25| SHO010425A2BK
25| SH010425A2 159 31.7 28.6 M5X8| SHO10508A2BK
M5X8| SH010508A2 173 34.5 31.1 10| SHO10510A2BK
10| SHO10510A2 161 32.2 29.0 12| SHO10512A2BK
12| SHO10512A2 164 32.8 29.5 16| SHO10516A2BK
16| SHO10516A2 175 35.1 31.6 20| SH010520A2BK
20| SH010520A2 192 38.4 34.6 25| SHO10525A2BK
25( SH010525A2 211 42.2 38.0 30( SHO10530A2BK
30| SHO010530A2 229 45.8 41.3 M6X8| SHO010608A2BK
M6X8| SH010608A2 202 40.4 36.3 10| SHO10610A2BK
10| SHO10610A2 206 41.3 37.2 12| SHO10612A2BK
12| SHO010612A2 212 42.5 38.2 16| SHO10616A2BK
16| SHO10616A2 231 46.1 41.5 20| SHO010620A2BK
20( SH010620A2 252 50.4 45.3 25| SH010625A2BK
25| SH010625A2 266 55.8 50.2 30| SHO10630A2BK
30( SH010630A2 266 61.1 55.0 35| SH010635A2BK
35( SH010635A2 266 66.5 59.9 40| SHO010640A2BK
40| SH010640A2 276 71.8 64.6




310 Y Afiit&azR 310SIlim’

ver.10.1
N
ZIL=E ¥/X X PIE FIRAH
NS | RS
14X #gRI—R 1~297| 30~9974| 100KLLE | 1,000%51t | INFEALY RE H4Z | 100&| (1~ | (30~
29%XK) [99%)
M3x6| SHO10306AL ||150.0 | 100.0 49.0 | 44.0 | 2,000 SH010306ALMBK M3x6| 174 280 230
8| SHO10308AL ||150.0 | 100.0 48.0 | 43.0 | 2,000 SH010308ALMBK M3x8| 172 280 230
10| SHO10310AL ([145.0 | 95.0 45.0 40.0 | 1,500 SHO010310ALMBK M3x10| 170 274 226
M4x8| SH010408AL |(190.0 | 125.0 63.0 | 56.0 | 1,300 SH010408ALMBK M4x8| 186 320 254
10| SHO10410AL (190.0 | 125.0 60.0 54.0 | 1,000 SH010410ALMBK M4x10| 184 320 254
12| SHO010412AL (195.0 |127.0 61.0 55.0 | 900 SH010412ALMBK M4x12| 184 324 256
16| SHO010416AL [ 195.0 |127.0 61.0 55.0 700 SH010416ALMBK M4x16| 184 324 256
M5x10| SHO10510AL ||200.0 | 130.0 65.0 | 59.0 | 800 SH010510ALMBK M5x10| 188 330 260
12| SHO010512AL (200.0 | 130.0 66.0 | 60.0 | 600 SHO010512ALMBK M5x12| 190 330 260
16| SHO10516AL |[(202.0 | 140.0 71.0 | 64.0 | 500 SH010516ALMBK M5x16| 194 332 270
20| SHO010520AL |(210.0 |150.0 77.0 | 69.0 | 800 SH010520ALMBK M5x20| 198 340 280
M6x10| SHO10610AL ||235.0 | 168.0 83.0 | 74.0 | 900 SH010610ALMBK M6x10| 204 364 298
12| SHO010612AL (235.0 | 168.0 85.0 76.0 700 SH010612ALMBK M6x12| 206 364 298
16| SHO10616AL |(245.0 | 190.0 93.0 | 84.0 | 600 SH010616ALMBK M6x16| 214 374 320
20| SHO010620AL |(250.0 | 200.0 | 101.0 | 90.0 | 400 SH010620ALMBK M6x20| 240 380 330

XMmEBAKXE BK=Black B=Blue G=Green P=Purple R=Red

DA - AVLAY ROV 31—

=EEoOX—b ¥ /& Ss|e=fivoA—k ¥ /X
B X L Bl 1-997 | 100481 1| 1,000 | EEIRE 11X ®gmI—KR 1-997 | 1004 L | 1,000%5 k| EE iR
M3x6 QSH010306 21 4.7 4.1 M3x6, QSH010306BK 22 4.9 4.4
8/ QSH010308 22 4.9 4.4 8| QSH010308BK 24 5.3 4.8
10, QSHO010310 22 4.9 4.4 10, QSH010310BK 24 5.3 4.8
12| QSH010312 24 5.3 4.8 100%& 12| QSH010312BK 26 5.7 5.2 100%
M4x8, QSH010408 37 8.2 7.4 M4x8| QSH010408BK 40 8.9 8.0
10, QSHO010410 42 9.3 8.4 10, QSH010410BK 46 10.3 9.3
12| QSH010412 47 104 9.4 12| QSH010412BK 53 11.7 10.6
16, QSHO010416 53 11.6 10.5 16 QSH010416BK 60 13.3 12.0
ATV RAA2 ¥/X
B X H}RI—R 1-994 | 100451 E | 1,0004u £ | EEAEHRS
M3x6| QSHO10306A2(| 24 7.4 6.6
8| QSHO010308A2| 24 7.8 6.8 100K
10 QSHO10310A2 24 8.0 7.0

HHEY k ¥ /X
LivN fm1—R BEEYrX| 2R 17K
1 QS01B50-6.35| M3 |50mm 960

2 QS02B75-6.35| M4 | 75mm|{| 1,020




